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Beispiel:	       20,57 t = 20570 kg

	t
	kg
	g
	mg

	
	2
	0
	5
	7
	0
	
	
	
	
	
	



Rechne um, schreibe die Zwischenergebnisse darunter auf die Linien und danach das Endergebnis.
1) 18000 kg  + 11,4 t  + 855 kg = 
18 t + 11,4 t + 0,855 t = 30,255 t

2)  824 kg  + 36,7 t   + 437 kg = 
824 kg  + 36700 kg  + 437 kg = 37961 kg

3)  0,831 t + 3870 kg + 0,756 t = 
831 kg + 3870 kg + 756 kg = 5457 kg

4)  0,581 kg + 59700 g + 90 kg = 
581 g + 59700 g + 90000 g = 150281 g

5)  0,864 t + 6810 kg + 0,626 t = 
864 kg + 6810 kg + 626 kg = 8300 kg

6)  29,9 kg + 7110 g + 60 kg = 
29900 g + 7110 g + 60000 g = 97010 g
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